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30. The functions given by

31

32.

33.

fz) = ar+1, r<7w/2
‘ sinz+b, z>w/2

is continuous if

(A ¢ =sinb
b
® o= -5
T
@) b=
(D b =sina

Consider the differential cquation y' = y cot{z) + sin(z). The corresponding homo-
geneous linear equation has a general solution :

(A y= cos(Cx)

(B vy =sin(Cz)

(¢) y = Ccos(z)

(D) y = Csin(z)

where C is integration constant.

The method of substitution for a first order linear differential eqﬁa.tion y = Plz)y+

Q(x) constitutes in writing the general solution as product of two functions, i.e.,

y(z) = u(z)v(z,C), where C is the integration constant. For the equation j—: —

3:,—’ * ;?1, the solutions for ¥ and v can be written as
(m u=y21U=C"';1§

@ w=rho=C-

@ uv=—3hv=y"+y+C

(D) u?‘?’bsv'_'ya'i'y

The vectors {€,1,0), (1,£,1) and (0,1,€) in R? are linearly dependent when the
scalar £ Is
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